

SOME IDENTITIES ON THE EULER NUMBERS ARISING FROM EULER BASIS POLYNOMIALS

T. KIM, D. S. KIM, D. V. DOLGY, S. H. RIM

ABSTRACT. In this paper we show that the set $\{E_0(x), E_1(x), \dots, E_n(x)\}$ of Euler polynomials is a basis for the space of polynomials of degree less than or equal to n . From the properties of Euler basis polynomials, we give some interesting identities on the product of two Bernoulli and Euler polynomials.

1. Introduction

The so-called Euler polynomials $E_n(x)$ may be defined by means of

$$\frac{2}{e^t + 1} e^{xt} = e^{E(x)t} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!},$$

with the usual convention about replacing $E^n(x)$ by $E_n(x)$ (see [1-22]). In the special case, $x = 0$, $E_n(0) = E_n$ are called the n -th Euler numbers.

As is well known definition, the n -th Bernoulli polynomials are also defined by the generating function as follows:

$$\frac{t}{e^t - 1} e^{xt} = e^{B(x)t} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!},$$

with the usual convention about replacing $B^n(x)$ by $B_n(x)$ (see [1,2,3,10,11]). In the special case, $x = 0$, $B_n(0) = B_n$ are called the n -th Bernoulli numbers.

From the definition of Bernoulli and Euler polynomials, we note that

$$B_n(x) = \sum_{l=0}^n \binom{n}{l} x^{n-l} B_l, \quad E_n(x) = \sum_{l=0}^n \binom{n}{l} x^{n-l} E_l.$$

For $n \in \mathbb{Z}_+$, we have

$$\frac{dB_n(x)}{dx} = nB_{n-1}(x), \quad \frac{dE_n(x)}{dx} = nE_{n-1}(x).$$

By the definition of Bernoulli and Euler polynomials, we get

$$B_0 = 1, \quad B_n(1) - B_n = \delta_{1,n}, \quad E_0 = 1, \quad E_n(1) + E_n = 2\delta_{0,n},$$

where $\delta_{k,n}$ is Kronecker symbol.

In [5], L. Carlitz introduced the following formula for the product of two Bernoulli polynomials:

$$B_m(x)B_n(x) = \sum_r \left\{ \binom{m}{2r} n + \binom{m}{2r} m \frac{B_{2r} B_{m+n-2r}(x)}{m+n-2r} + (-1)^{m+1} \frac{B_{m+n}}{\binom{m+n}{n}} \right\},$$

where $m, n \in \mathbb{Z}_+$ with $m+n \geq 2$.

In [6], L. Carlitz gave the formula for the product of two Eulerian polynomials:

$$\begin{aligned} H_m(x|\alpha)H_n(x|\alpha^{-1}) &= -(1-\alpha) \sum_{r=0}^{m-1} \binom{m}{r+1} H_{r+1}(\alpha) \frac{B_{m+n-r}(x)}{m+n-r} \\ &\quad - (1-\alpha^{-1}) \sum_{s=0}^{n-1} \binom{n}{s+1} H_{s+1}(\alpha^{-1}) \frac{B_{m+n-s}(x)}{m+n-s} \\ &\quad + (-1)^{n+1} \frac{m!n!}{(m+n+1)!} (1-\alpha) H_{m+n+1}(\alpha), \end{aligned}$$

where $H_m(\alpha)$ are the m -th Eulerian numbers.

In this paper, we show that the set $\{E_0(x), E_1(x), \dots, E_n(x)\}$ of Euler polynomials is a basis for the space of polynomials of degree less than or equal to n . By using the properties of Euler basis polynomials, we give some interesting formulae for the product of two Bernoulli and Euler polynomials.

2. Some formulae for the product of two Bernoulli and Euler polynomials

Let $\mathbf{P}_n = \{ \sum_i a_i x^i \mid a_i \in \mathbb{Q} \}$ be the space of polynomials of degree less than or equal to n . It is easy to show that

$$(1) \quad e^{xt} = \frac{1}{2} \frac{2(e^t + 1)}{e^t + 1} e^{xt} = \frac{1}{2} \frac{2e^{(x+1)t}}{e^t + 1} + \frac{1}{2} \frac{2e^{xt}}{e^t + 1} = \frac{1}{2} \sum_{n=0}^{\infty} (E_n(x+1) + E_n(x)) \frac{t^n}{n!}.$$

Note that

$$(E+1)^n + E_n = 2\delta_{0,n}, \quad E_0 = 1.$$

From the definition of Euler polynomials, we have

$$\begin{aligned} E_n(x+1) &= \sum_{l=0}^n \binom{n}{l} E_l(1) x^{n-l} = x^n E_0(1) - \sum_{l=1}^n \binom{n}{l} E_l x^{n-l} \\ &= 2x^n - \sum_{l=0}^n \binom{n}{l} E_l x^{n-l} = 2x^n - E_n(x). \end{aligned}$$

Hence

$$E_n(x+1) + E_n(x) = 2x^n,$$

$$E_n(x+1) = \sum_{l=0}^n \binom{n}{l} E_l(x) = E_n(x) + \sum_{l=0}^{n-1} E_l(x) \binom{n}{l},$$

and

$$E_n(x+1) + E_n(x) = 2E_n(x) + \sum_{l=0}^{n-1} E_l(x) \binom{n}{l}.$$

From (1), we note that

$$(2) \quad x^n = \frac{1}{2} (E_n(x+1) + E_n(x)) = E_n(x) + \frac{1}{2} \sum_{l=0}^{n-1} \binom{n}{l} E_l(x).$$

By (2), we see that $\{E_0(x), E_1(x), \dots, E_n(x)\}$ span \mathbf{P}_n . For $p(x) \in \mathbf{P}_n$, let $p(x) = \sum_{k=0}^n b_k E_k(x)$ and $g(x) = p(x+1) + p(x)$. Then we have

$$(3) \quad g(x) = \sum_{k=0}^n b_k (E_k(x+1) + E_k(x)) = \sum_{k=0}^n 2b_k x^k.$$

Thus, from (3), we have

$$(4) \quad g^{(r)}(x) = \sum_{k=0}^n 2b_k k(k-1) \cdots (k-r+1) x^{k-r},$$

where $g^{(r)}(x) = \frac{d^r g(x)}{dx^r}$ and $r = 0, 1, 2, \dots, n$.

Let us take $x = 0$ in (4). Then we have

$$(5) \quad g^{(r)}(0) = 2b_r r!.$$

From (5), we have

$$(6) \quad b_r = \frac{g^{(r)}(0)}{2r!} = \frac{1}{2r!} (p^{(r)}(1) + p^{(r)}(0)).$$

Let us assume that $0 = p(x) = \sum_{k=0}^n b_k E_k(x)$. Then, by (6), we get

$$(7) \quad b_r = \frac{1}{2r!} (p^{(r)}(1) + p^{(r)}(0)) = 0, \quad \text{for } r = 0, 1, 2, \dots, k.$$

From (7), we have $\{E_0(x), E_1(x), \dots, E_n(x)\}$ is a linearly independent set. Therefore, we obtain the following theorem.

Theorem 1 . *The set $\{E_0(x), E_1(x), \dots, E_n(x)\}$ of Euler polynomials is a basis for \mathbf{P}_n .*

Let us take polynomial $p(x) \in \mathbf{P}_n$, let $p(x) = \sum_{k=0}^n b_k E_k(x)$ and $g(x) = p(x+1) + p(x)$. Then we have. as a linear combination of Euler basis polynomials with

$$(8) \quad p(x) = C_0 E_0(x) + C_1 E_1(x) + \cdots + C_n E_n(x).$$

The equation (8) can be rewritten as a dot product of two variables:

$$(9) \quad p(x) = (E_0(x) \ E_1(x) \ \dots \ E_n(x)) \begin{pmatrix} C_0 \\ C_1 \\ \vdots \\ C_n \end{pmatrix}.$$

By (9), we get

$$(10) \quad p(x) = (1 \ x \ \dots \ x^n) \begin{pmatrix} 1 & a_{12} & a_{13} & \dots & \dots & a_{1,n+1} \\ 0 & 1 & a_{23} & \dots & \dots & a_{2,n+1} \\ 0 & 0 & 1 & \dots & \dots & a_{3,n+1} \\ \vdots & \vdots & \vdots & \ddots & \vdots & \vdots \\ 0 & 0 & 0 & \dots & 1 & a_{n,n+1} \\ 0 & 0 & 0 & \dots & 0 & 1 \end{pmatrix} \begin{pmatrix} C_0 \\ C_1 \\ \vdots \\ C_n \end{pmatrix},$$

where the $a_{i,j}$ are the coefficient of the power basis that are used to determine the respective Euler polynomials.

From the definition of Euler polynomials, we note that

$$E_0(x) = 1, \quad E_1(x) = x - \frac{1}{2}, \quad E_2(x) = x^2 - x, \quad E_3(x) = x^3 - \frac{3}{2}x^2 + \frac{1}{4}, \dots$$

In the quadratic case ($n = 2$), the matrix representation is

$$p(x) = (1 \ x \ x^2) \begin{pmatrix} 1 & -\frac{1}{2} & 0 \\ 0 & 1 & -1 \\ 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} C_0 \\ C_1 \\ C_2 \end{pmatrix}.$$

In the cubic case ($n = 3$), the matrix representation is

$$p(x) = (1 \ x \ x^2 \ x^3) \begin{pmatrix} 1 & -\frac{1}{2} & 0 & \frac{1}{4} \\ 0 & 1 & -1 & 0 \\ 0 & 0 & 1 & -\frac{3}{2} \\ 0 & 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} C_0 \\ C_1 \\ C_2 \\ C_3 \end{pmatrix}.$$

In many applications of Euler polynomials, a matrix formulation for the Euler polynomials seems to be interesting.

Let us take $p(x) = B_n(x) \in \mathbf{P}_n$. By Theorem 1. we see that $p(x)$ is given by $p(x) = \sum_{k=0}^n b_k E_k(x)$. From (6), we have

$$(11) \quad \begin{aligned} b_k &= \frac{1}{2k!} (p^{(k)}(1) + p^{(k)}(0)) \\ &= \frac{1}{2k!} n(n-1) \dots (n-k+1) (B_{n-k}(1) + B_{n-k}) \\ &= \frac{\binom{n}{k}}{2} (B_{n-k}(1) + \delta_{1,n-k} + B_{n-k}) \\ &= \begin{cases} \binom{n}{k} B_{n-k} & \text{if } k \neq n-1, \\ 0 & \text{if } k = n-1. \end{cases} \end{aligned}$$

Therefore, by (11), we obtain the following proposition.

Proposition 1 . For $n \in \mathbb{Z}_+$, we have

$$B_n(x) = \sum_{k=0}^{n-2} \binom{n}{k} B_{n-k} E_k(x) + E_n(x) = \sum_{\substack{k=0 \\ k \neq 1}}^{n-2} \binom{n}{k} B_{n-k} E_k(x).$$

Let us consider polynomials $p(x) = \sum_{k=0}^n B_k(x) B_{n-k}(x)$ in \mathbf{P}_n . Then we have

$$(12) \quad p^{(r)}(x) = \frac{(n+1)!}{(n+1-r)!} \sum_{k=r}^n B_{k-r}(x) B_{n-k}(x),$$

where $r = 0, 1, 2, \dots, n$.

By Theorem 1, we see that $p(x)$ is given by $p(x) = \sum_{k=0}^n b_k E_k(x) \in \mathbf{P}_n$. From (6) and (12), we note that

$$(13) \quad \begin{aligned} b_k &= \frac{1}{2k!} (p^{(k)}(1) + p^{(k)}(0)) \\ &= \frac{1}{2k!} \frac{(n+1)!}{(n-k+1)!} \sum_{l=k}^n \{ B_{l-k}(1) B_{n-l}(1) + B_{l-k} B_{n-l} \} \\ &= \frac{(n+1) \binom{n}{k}}{2(n-k+1)} \left\{ 2 \sum_{l=k}^n B_{l-k} B_{n-l} + 2B_{n-1-k} + \delta_{k,n-2} \right\} \\ &= \begin{cases} \frac{(n+1) \binom{n}{k}}{n-k+1} \left\{ \sum_{l=k}^n B_{l-k} B_{n-l} + B_{n-1-k} \right\} & \text{if } k \neq n-2, \\ \frac{(n+1) \binom{n-2}{k}}{3} \left\{ 2 \sum_{l=n-2}^n B_{l-n+2} B_{n-l} + B_1 \right\} + \frac{(n^2-1)n}{12} & \text{if } k = n-2. \end{cases} \end{aligned}$$

Therefore, by (13), we obtain the following theorem.

Theorem 2 . For $n \in \mathbb{Z}_+$, we have

$$\begin{aligned} &\sum_{k=0}^n B_k(x) B_{n-k}(x) \\ &= (n+1) \sum_{k=0}^n \frac{\binom{n}{k}}{n-k+1} \left\{ \sum_{l=k}^n B_{l-k} B_{n-l} + B_{n-1-k} \right\} E_k(x) + \frac{(n^2-1)n}{12} E_{n-2}(x). \end{aligned}$$

Let us take $p(x) = \sum_{k=0}^n \frac{1}{k!(n-k)!} B_k(x) B_{n-k}(x) \in \mathbf{P}_n$. Then we see that

$$(14) \quad p^{(r)}(x) = 2^r \sum_{k=r}^n \frac{B_{k-r}(x) B_{n-k}(x)}{(k-r)!(n-k)!}, \quad (r = 0, 1, 2, \dots, n).$$

From Theorem 1, we see that $p(x)$ is given by $p(x) = \sum_{k=0}^n b_k E_k(x) \in \mathbf{P}_n$.
By (6) and (14), we get

$$\begin{aligned}
 (15) \quad b_k &= \frac{1}{2k!} \left(p^{(k)}(1) + p^{(k)}(0) \right) \\
 &= \frac{2^k}{2k!} \sum_{l=k}^n \frac{B_{l-k}(1)B_{n-l}(1) + B_{l-k}B_{n-l}}{(l-k)!(n-l)!} \\
 &= \frac{2^{k-1}}{k!} \sum_{l=k}^n \frac{(B_{l-k} + \delta_{1,l-k})(B_{n-l} + \delta_{1,n-l}) + B_{l-k}B_{n-l}}{(l-k)!(n-l)!} \\
 &= \frac{2^{k-1}}{k!} \left\{ 2 \sum_{l=k}^n \frac{B_{l-k}B_{n-l}}{(l-k)!(n-l)!} + \frac{2B_{n-1-k}}{(n-1-k)!} + \delta_{k,n-2} \right\} \\
 &= \begin{cases} \frac{2^k}{k!} \left\{ \sum_{l=k}^n \frac{B_{l-k}B_{n-l}}{(l-k)!(n-l)!} + \frac{B_{n-1-k}}{(n-1-k)!} \right\} & \text{if } k \neq n-2, \\ \frac{2^{n-2}}{(n-2)!} \left\{ \sum_{l=n-2}^n \frac{B_{l-n+2}B_{n-l}}{(l-n+2)!(n-l)!} + B_1 \right\} + \frac{2^{n-3}}{(n-2)!} & \text{if } k = n-2. \end{cases}
 \end{aligned}$$

Therefore, by (15), we obtain the following theorem.

Theorem 3 . For $n \in \mathbb{Z}_+$, we have

$$\begin{aligned}
 &\sum_{k=0}^n \binom{n}{k} B_k(x) B_{n-k}(x) \\
 &= \sum_{k=0}^n 2^k \binom{n}{k} \left\{ \sum_{l=k}^n \binom{n-k}{l-k} B_{l-k} B_{n-l} + n \binom{n-1}{k} B_{n-1-k} \right\} E_k(x) \\
 &\quad + n(n-1)2^{n-3} E_{n-2}(x).
 \end{aligned}$$

Let us consider polynomials $p(x) = \sum_{k=1}^{n-1} \frac{B_k(x)B_{n-k}(x)}{k(n-k)}$ in \mathbf{P}_n . Then, for $k = 0, 1, 2, \dots, n-1$, we have

$$(16) \quad p^{(k)}(x) = 2C_k B_{n-k}(x) + (n-1) \cdots (n-k) \sum_{l=k+1}^{n-1} \frac{B_{l-k}(x)B_{n-l}(x)}{(l-k)(n-l)},$$

where

$$(17) \quad C_k = \frac{\sum_{j=1}^k (n-1) \cdots (n-j+1)(n-j-1) \cdots (n-k)}{(n-k)}.$$

By Theorem 1, we see that $p(x)$ can be written as $p(x) = \sum_{k=0}^n b_k E_k(x)$ in \mathbf{P}_n . By (6) and (16), we get

$$\begin{aligned}
 b_k &= \frac{1}{2k!} \left(p^{(k)}(1) + p^{(k)}(0) \right) \\
 (18) \quad &= \frac{1}{2k!} (2C_k B_{n-k}(1) + 2C_k B_{n-k}) \\
 &\quad + \frac{(n-1) \cdots (n-k)}{2k!} \sum_{l=k+1}^{n-1} \left\{ \frac{B_{l-k}(1)B_{n-l}(1) + B_{l-k}B_{n-l}}{(l-k)!(n-l)!} \right\}.
 \end{aligned}$$

Note that $b_{n-1} = 0$. We may assume $0 \leq k \leq n-2$. Then we have

$$\begin{aligned}
 b_k &= \frac{1}{k!} (2C_k B_{n-k} + C_k \delta_{1,n-k}) \\
 &\quad + \frac{(n-1)!}{2k!(n-k-1)!} \sum_{l=k+1}^{n-1} \left\{ \frac{(B_{l-k} + \delta_{1,l-k})(B_{n-l} + \delta_{1,n-l}) + B_{l-k}B_{n-l}}{(l-k)(n-l)} \right\} \\
 &= \frac{1}{k!} 2C_k B_{n-k} + \binom{n-1}{k} \sum_{l=k+1}^{n-1} \frac{B_{l-k}B_{n-l}}{(l-k)(n-l)} + \binom{n-1}{k} \frac{B_{n-1-k}}{n-1-k} + \frac{\binom{n-1}{k}}{2} \delta_{k,n-2}.
 \end{aligned}$$

Note that

$$(19) \quad p^{(n)}(x) = (p^{(n-1)}(x))' = (2C_{n-1}B_1(x))' = 2C_{n-1}.$$

From (17), we have

$$\begin{aligned}
 \frac{C_k}{k!} &= \frac{1}{k!} \sum_{j=1}^k \frac{(n-1) \cdots (n-j+1)(n-j-1) \cdots (n-k)}{(n-k)!} \\
 (20) \quad &= \frac{1}{k!} \sum_{j=1}^k \frac{(n-1)!}{(n-k)!(n-j)} = \frac{\binom{n}{k}}{n} \sum_{j=1}^k \frac{1}{n-j} \\
 &= \frac{\binom{n}{k}}{n} \left\{ \sum_{j=1}^{n-1} \frac{1}{j} - \sum_{j=1}^{n-k-1} \frac{1}{j} \right\} = \frac{\binom{n}{k}}{n} (H_{n-1} - H_{n-k-1}),
 \end{aligned}$$

and

$$(21) \quad C_{n-1} = (n-1)!H_{n-1}, \quad b_n = \frac{p^{(n)}(1) + p^{(n)}(0)}{2n!} = \frac{2C_{n-1}}{n!},$$

where $H_n = \sum_{i=1}^n \frac{1}{i}$.

Therefore, by (18), (20), and (21), we obtain the following theorem.

Theorem 4 . For $n \in \mathbb{N}$, we have

$$\begin{aligned} & \sum_{k=1}^n \frac{1}{k(n-k)} B_k(x) B_{n-k}(x) \\ &= \sum_{k=0}^{n-2} \left\{ \frac{2\binom{n}{k}}{n} (H_{n-1} - H_{n-k-1}) B_{n-k} + \binom{n-1}{k} \sum_{l=k+1}^{n-1} \frac{B_{l-k} B_{n-l}}{(l-k)(n-l)} \right. \\ & \quad \left. + \frac{\binom{n-1}{k} B_{n-1-k}}{n-1-k} \right\} E_k(x) + \frac{n-1}{2} E_{n-2}(x) + \frac{2}{n} H_{n-1} E_n(x). \end{aligned}$$

Let us take $p(x) = \sum_{k=0}^n E_k E_{n-k}(x) \in \mathbf{P}_n$. Then we have

$$(22) \quad p^{(k)}(x) = \frac{(n+1)!}{(n-k+1)!} \sum_{l=k}^n E_{l-k}(x) E_{n-k}(x).$$

By Theorem 1, $p(x)$ is given by $p(x) = \sum_{k=0}^n b_k E_k(x)$. From (6) and (22), we have

$$\begin{aligned} (23) \quad b_k &= \frac{1}{2k!} (p^{(k)}(1) + p^{(k)}(0)) \\ &= \frac{(n+1)!}{2k!(n-k+1)!} \sum_{l=k}^n \{ E_{l-k}(1) E_{n-l}(1) + E_{l-k} E_{n-l} \} \\ &= \frac{n+1}{2(n-k+1)} \binom{n}{k} \sum_{l=k}^n \{ (-E_{l-k} + 2\delta_{0,l-k})(-E_{n-l} + 2\delta_{0,n-l}) + E_{l-k} E_{n-l} \} \\ &= \frac{n+1}{n-k+1} \binom{n}{k} \left(\sum_{l=k}^n E_{l-k} E_{n-l} - 2E_{n-k} + 2\delta_{n,k} \right). \end{aligned}$$

Therefore, by (23), we obtain the following theorem.

Theorem 5 . For $n \in \mathbb{Z}_+$, we have

$$\begin{aligned} & \frac{1}{n+1} \sum_{k=0}^n E_k(x) E_{n-k}(x) \\ &= \sum_{k=0}^n \frac{\binom{n}{k}}{n-k+1} \left(\sum_{l=k}^n E_{l-k} E_{n-l} - 2E_{n-k} \right) E_k(x) + 2E_n(x). \end{aligned}$$

Let us take $p(x) = 2^k \sum_{k=0}^n \frac{E_k(x) E_{n-k}(x)}{k!(n-k)!} \in \mathbf{P}_n$. Then we have

$$(24) \quad p^{(k)}(x) = 2^k \sum_{l=k}^n \frac{E_{l-k}(x) E_{n-l}(x)}{(l-k)!(n-k)!}.$$

By Theorem 1, we see that $p(x)$ can be written as $p(x) = \sum_{k=0}^n b_k E_k(x)$ in \mathbf{P}_n . From (6) and (24), we note that

$$\begin{aligned}
 b_k &= \frac{1}{2k!} \left(p^{(k)}(1) + p^{(k)}(0) \right) \\
 &= \frac{2^{k-1}}{k!} \sum_{l=k}^n \frac{1}{(l-k)!(n-l)!} \left\{ E_{l-k}(1)E_{n-l}(1) + E_{l-k}E_{n-l} \right\} \\
 (25) \quad &= \frac{2^{k-1}}{k!} \sum_{l=k}^n \left\{ \frac{(-E_{l-k} + 2\delta_{0,l-k})(-E_{n-l} + 2\delta_{0,n-l}) + E_{l-k}E_{n-l}}{(l-k)!(n-l)!} \right\} \\
 &= \frac{2^k}{k!} \left\{ \sum_{l=k}^n \frac{E_{l-k}E_{n-l}}{(l-k)!(n-l)!} - \frac{2E_{n-k}}{(l-k)!} + 2\delta_{k,n} \right\}.
 \end{aligned}$$

Therefore, by (25), we obtain the following theorem.

Theorem 6 . For $n \in \mathbb{Z}_+$, we have

$$\sum_{k=0}^n \frac{E_k(x)E_{n-k}(x)}{k!(n-k)!} = \sum_{k=0}^n \frac{2^k}{k!} \left(\sum_{l=k}^n \frac{E_{l-k}E_{n-l}}{(l-k)!(n-l)!} - \frac{2E_{n-k}}{(n-k)!} \right) E_k(x) + 2E_n(x).$$

Let us take $p(x) = \sum_{l=k}^{n-1} \frac{1}{k(n-k)} E_k(x)E_{n-k}(x) \in \mathbf{P}_n$. Then we have

$$(26) \quad p^{(k)}(x) = 2C_k E_{n-k}(x) + (n-1) \cdots (n-k) \sum_{l=k+1}^{n-1} \frac{E_{l-k}(x)E_{n-l}(x)}{(l-k)(n-l)},$$

where

$$(27) \quad C_k = \frac{\sum_{j=1}^k (n-1) \cdots (n-j+1)(n-j-1) \cdots (n-k)}{n-k} \quad (k = 1, 2, \dots, n-1),$$

and $C_0 = 0$.

Note that $p^{(n)}(x) = (p^{(n-1)}(x))' = (2C_{n-1}E_1(x))' = 2C_{n-1}$. By (7), we get

$$\begin{aligned}
 (28) \quad b_k &= \frac{1}{2k!} \left(p^{(k)}(1) + p^{(k)}(0) \right) \\
 &= \frac{1}{k!} C_k (E_{n-k}(1) + E_{n-k}) + \frac{(n-1) \cdots (n-k)}{2k!} \sum_{l=k+1}^{n-1} \frac{E_{l-k}(1)E_{n-l}(1) + E_{l-k}E_{n-l}}{(l-k)(n-l)} \\
 &= \binom{n-1}{k} \sum_{l=k+1}^{n-1} \frac{E_{l-k}E_{n-l}}{(l-k)(n-k)},
 \end{aligned}$$

where $k = 1, 2, \dots, n-1$.

Note that

$$(29) \quad b_n = \frac{1}{2n!} \left(p^{(n)}(1) + p^{(n)}(0) \right) = \frac{1}{2n!} 4(n-1)!H_{n-1} = \frac{2}{n} H_{n-1}.$$

Therefore, by (28), and (29), we obtain the following theorem.

Theorem 7 . For $n \in \mathbb{N}$, we have

$$\begin{aligned} & \sum_{k=1}^{n-1} \frac{1}{k(n-k)} E_k(x) E_{n-k}(x) \\ &= \sum_{k=0}^{n-2} \sum_{l=k+1}^{n-1} \frac{\binom{n-1}{k}}{(l-k)(n-l)} E_{l-k} E_{n-l} E_k(x) + \frac{2}{n} H_{n-1} E_n(x). \end{aligned}$$

Let us consider polynomial $p(x)$ with $p(x) = \sum_{k=0}^n B_k(x) E_{n-k}(x) \in \mathbb{P}_n$. Then we have

$$(30) \quad p^{(k)}(x) = \frac{(n+1)!}{(n-k+1)!} \sum_{l=k}^n B_{l-k}(x) E_{n-l}(x),$$

where $k = 0, 1, 2, \dots, n$. From Theorem 1, we note that $p(x)$ is given by $p(x) = \sum_{k=0}^n b_k E_k(x)$ in \mathbb{P}_n . By (6) and (30), we get

$$\begin{aligned} (31) \quad b_k &= \frac{1}{2k!} \left(p^{(k)}(1) + p^{(k)}(0) \right) \\ &= \frac{(n+1)!}{2k!(n-k+1)!} \sum_{l=k}^n \left(B_{l-k}(1) E_{n-l}(1) + B_{l-k} E_{n-l} \right) \\ &= \frac{\binom{n+1}{k}}{2} \sum_{l=k}^n \left\{ (B_{l-k} + \delta_{1,l-k}) (-E_{n-l} + 2\delta_{0,n-l}) + B_{l-k} E_{n-l} \right\} \\ &= \frac{\binom{n+1}{k}}{2} \left(2B_{n-k} - E_{n-k-1} + 2\delta_{k,n-1} \right) \\ &= \begin{cases} \frac{\binom{n+1}{k}}{2} \left(-E_{n-k-1} + 2B_{n-k} \right) & \text{if } k \neq n-1, \\ 0 & \text{if } k = n-1, \\ n+1 & \text{if } k = n. \end{cases} \end{aligned}$$

Therefore, by (31), we obtain the following theorem.

Theorem 8 . For $n \in \mathbb{Z}_+$, we have 1

$$\sum_{k=0}^n B_k(x) E_{n-k}(x) = \frac{1}{2} \sum_{k=0}^{n-2} \binom{n+1}{k} \left(-E_{n-k-1} + 2B_{n-k} \right) E_k(x) + (n+1) E_n(x).$$

Let us take $p(x) = 2^k \sum_{l=k}^n \frac{1}{k!(n-k)!} B_k(x) E_{n-k}(x) \in \mathbb{P}_n$. Then, for $k = 0, 1, 2, \dots, n$, we have

$$(32) \quad p^{(k)}(x) = 2^k \sum_{l=k}^n \frac{1}{(l-k)!(n-l)!} B_{l-k}(x) E_{n-l}(x).$$

By Theorem 1, let us assume that $p(x) = \sum_{k=0}^n b_k E_k(x)$ in \mathbf{P}_n . From (6) and (32), we have

$$\begin{aligned}
 b_k &= \frac{1}{2k!} \left(p^{(k)}(1) + p^{(k)}(0) \right) \\
 &= \frac{2^{k-1}}{k!} \sum_{l=k}^n \frac{1}{(l-k)!(n-l)!} \left\{ B_{l-k}(1)E_{n-l}(1) + B_{l-k}E_{n-l} \right\} \\
 (33) \quad &= \frac{2^{k-1}}{k!} \sum_{l=k}^n \left\{ \frac{(B_{l-k} + \delta_{1,l-k})(-E_{n-l} + 2\delta_{0,n-l}) + B_{l-k}E_{n-l}}{(l-k)!(n-l)!} \right\} \\
 &= \frac{2^{k-1}}{k!} \left\{ \frac{2B_{n-k}}{(n-k)!} - \frac{E_{n-k-1}}{(n-k-1)!} + 2\delta_{k,n-1} \right\} \\
 &= \begin{cases} \frac{2^{k-1}}{k!} \left(\frac{2B_{n-k}}{(n-k)!} - \frac{E_{n-k-1}}{(n-k-1)!} \right) & \text{if } k \neq n-1, \\ 0 & \text{if } k = n-1. \end{cases}
 \end{aligned}$$

Therefore, by (33), we obtain the following theorem.

Theorem 9 . For $n \in \mathbb{Z}_+$, we have

$$\sum_{k=0}^n \binom{n}{k} B_k(x) E_{n-k}(x) = \sum_{k=0}^{n-2} 2^{k-1} \binom{n}{k} \left\{ -(n-k)E_{n-k-1} + 2B_{n-k} \right\} + 2^n E_n(x).$$

Let us consider polynomials $p(x)$ with $p(x) = \sum_{l=k}^{n-1} \frac{1}{k(n-k)} B_k(x) E_{n-k}(x) \in \mathbf{P}_n$. Then we have

$$(34) \quad p^{(k)}(x) = C_k (B_{n-k}(x) + E_{n-k}(x)) + (n-1) \cdots (n-k) \sum_{l=k+1}^{n-1} \frac{B_{l-k}(x) E_{n-l}(x)}{(l-k)(n-l)},$$

where

$$(35) \quad C_k = \frac{\sum_{j=1}^k (n-1) \cdots (n-j+1)(n-j-1) \cdots (n-k)}{n-k} \quad (k = 1, 2, \dots, n-1).$$

Note that $p^{(n)}(x) = 2C_{n-1} = 2(n-1)!H_{n-1}$. By Theorem 1, let us assume that $p(x) = \sum_{k=0}^n b_k E_k(x)$. From (6) and (34), we have

(36)

$$\begin{aligned} b_k &= \frac{1}{2k!} \left(p^{(k)}(1) + p^{(k)}(0) \right) \\ &= \frac{1}{2k!} C_k \left\{ B_{n-k}(1) + (B_{n-k} + E_{n-k}(1)E_{n-k}) \right. \\ &\quad \left. + (n-1) \cdots (n-k) \sum_{l=k+1}^{n-1} \frac{B_{l-k}(1)E_{n-l}(1) + B_{l-k}E_{n-l}}{(l-k)(n-l)} \right\} \\ &= \frac{1}{2k!} \left\{ C_k(2B_{n-k} + \delta_{1,n-k}) - (n-1) \cdots (n-k) \sum_{l=k+1}^{n-1} \frac{\delta_{1,l-k}E_{n-l}}{(l-k)(n-l)} \right\}, \end{aligned}$$

where $k = 1, 2, \dots, n-1$.

$$= \begin{cases} \frac{1}{2k!} \left\{ 2C_k B_{n-k} - (n-1) \cdots (n-k) \frac{E_{n-k-1}}{n-k-1} \right\} & \text{if } k \neq n-1, \\ 0 & \text{if } k = n-1. \end{cases}$$

By (35), we get

$$(37) \quad \frac{C_k}{k!} = \frac{1}{n} \binom{n}{k} (H_{n-1} - H_{n-k-1}).$$

It is easy to show that

$$(38) \quad b_n = \frac{1}{2n!} \left(p^{(n)}(1) + p^{(n)}(0) \right) = \frac{1}{2n!} 4(n-1)!H_{n-1} = \frac{2H_{n-1}}{n}.$$

Therefore, by (36), (37), and (38), we obtain the following theorem.

Theorem 10. For $n \in \mathbb{N}$, we have

$$\begin{aligned} &\sum_{k=1}^{n-1} \frac{1}{k(n-k)} B_k(x) E_{n-k}(x) \\ &= \sum_{k=0}^{n-2} \left\{ \frac{1}{n} \binom{n}{k} (H_{n-1} - H_{n-k-1}) B_{n-k} - \frac{1}{2} \binom{n-1}{k} \frac{E_{n-k-1}}{n-k-1} \right\} E_k(x) \\ &\quad + \frac{2}{n} H_{n-1} E_n(x). \end{aligned}$$

REFERENCES

- [1] S. Araci, D. Erdal, J. J. Seo, *A Study on the Fermionic p -Adic q -Integral Representation on \mathbb{Z}_p Associated with weighted q -Bernstein and q -Genocchi Polynomials*, *Abstract and Applied Analysis* 2011 (2011), Article ID 649248, 10 pages.
- [2] A. Bayad, *Fourier expansions for Apostol-Bernoulli, Apostol-Euler and Apostol-Genocchi polynomials*, *Math. Comp.* 80(2011), no. 276, 2219-2221.

- [3] A. Bayad, *Modular properties of elliptic Bernoulli and Euler functions*, Adv. Stud. Contemp. Math. 20(2010), no. 3, 389-401.
- [4] A. Bayad, T. Kim, *Identities for the Bernoulli, the Euler and the Genocchi numbers and polynomials*, Adv. Stud. Contemp. Math. 20(2010), no. 2, 247-253.
- [5] L. Carlitz, *Product of Two Eulerian polynomials*, Mathematics Magazine 36(1963), 37-41.
- [6] L. Carlitz, *Note on the integral of the product of several Bernoulli polynomials*, J. London Math. Soc. 34(1959), 361-363.
- [7] I. N. Cangul, V. Kurt, H. Ozden, Y. Simsek, *On the higher-order w - q -Genocchi numbers*, Adv. Stud. Contemp. Math. 19(2009), 39-57.
- [8] K. W. Hwang, D. V. Dolgy, T. Kim, S. H. Lee, *On the higher-order q -Euler numbers and polynomials with weight α* , Discrete Dyn. Nat. Soc. 2011(2011), Art. ID 354329, 12 pp.
- [9] D. S. Kim, T. Kim, *A study on the integral of the product of several Bernoulli polynomials* (communicated).
- [10] T. Kim, *An identity of symmetry for the generalized Euler polynomials*, J. Comput. Anal. Appl. 13 (2011), no. 7, 1292-1296.
- [11] T. Kim, *Some formulae for the q -Bernstein polynomials and q -deformed binomial distributions*, J. Comput. Anal. Appl. 14(2012), no. 5, 917-933.
- [12] T. Kim, *Some identities on the q -Euler polynomials of higher order and q -Stirling numbers by the fermionic p -adic integral on \mathbb{Z}_p* , Russ. J. Math. Phys. 16(2009), no. 4, 484-491.
- [13] T. Kim, *q -Bernoulli numbers and polynomials associated with Gaussian binomial coefficients*, Russ. J. Math. Phys. 15(2008), no. 1, 51-57.
- [14] T. Kim, *q -generalized Euler numbers and polynomials*, Russ. J. Math. Phys. 13(2006), no. 3, 23-298.
- [15] T. Kim, *q -Volkenborn integration*, Russ. J. Math. Phys. 9(2002), no. 3, 288-299.
- [16] H. Ozden, Y. Simsek, *A new extension of q -Euler numbers and polynomials related to their interpolation functions*, Appl. Math. Lett. 21(2008), no. 9, 934-939.
- [17] H. Ozden, I. N. Cangul, Y. Simsek, *Multivariate interpolation functions of higher-order q -Euler numbers and their applications*, Abstr. Appl. Anal. 2008(2008), Art. ID 390857, 16 pp.
- [18] C. S. Ryoo, *Some identities of the twisted q -Euler numbers and polynomials associated with q -Bernstein polynomials*, Proc. Jangjeon Math. Soc. 14 (2011), no. 2, 239-248.
- [19] C. S. Ryoo, *Some relations between twisted q -Euler numbers and Bernstein polynomials*, Adv. Stud. Contemp. Math. 21 (2011), no. 2, 217-223.
- [20] Y. Simsek, *Complete sum of products of (h, q) -extension of Euler polynomials and numbers*, J. Difference Equ. Appl. 16 (2010), no. 11, 1331-1348,
- [21] Y. Simsek, *Special functions related to Dedekind-type DC -sums and their applications*, Russ. J. Math. Phys. 17 (2010), no. 4, 495-508.
- [22] Y. Simsek, *Theorems on twisted L -function and twisted Bernoulli numbers*, Adv. Stud. Contemp. Math. 11(2005), no. 2, 205-218.

Taekyun KIM

Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea, *E-mail*: tkkim@kw.ac.kr

Dae San KIM

Department of Mathematics, Sogang University, Seoul 121-741, Republic of Korea, *E-mail*: dskim@sogang.ac.kr

Dmitry V. DOLGY

HANRIMWON, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA, *E-mail*: d_dol@mail.ru

Seog-Hoon RIM

Department of Mathematics Education, Kyungpook National University, Daegu 702-701, Republic of Korea, *E-mail*: shrim@knu.ac.kr